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Instructions to candidates

(a) Write your name and index number in the spaces provided above.

(b) Sign and write the date of examination in the spaces provided above.

(c) This paper consists of twe sections; A and B.

(d) Answer all the questions in sections A and B in the spaces provided.

(e) All workings must be clearly shown.

(f) Silent non programmable electronic calculators may be used.

(g) This paper consists of 16 printed pages.

(h) Candidates should check the question paper to ascertain that all the pages are printed as
indicated and that no questions are missing.

(i) Candidates should answer the questions in English.

For Examiner’s Use Only

Section | Question M;?;.l:m Cal;iiodrzte’s

A 1-13 25
14 13

15 13

B 16 10
17 11

18 08

Total Score 80

© 2016 The Kenya National Examinations Council
916028 Turn over



2.

SECTION A: (25 marks)

Answer all the questions in this section in the spaces provided.

State what mechanics as a branch of physics deals with.

.........................................................................................................................................................
.........................................................................................................................................................

.........................................................................................................................................................

a change in volume of water in a measuring cylinder when an irregular solid is

Figure 1 shows

immersed in it.
=260cm’
=240
£220

Figure 1

Given that the mass of the solid is 567 g, determine the density of the solid in g/cm’
(Give your answers correct to 2 decimal places).

.........................................................................................................................................................
.........................................................................................................................................................
.........................................................................................................................................................
.........................................................................................................................................................

.........................................................................................................................................................

When a drop of an organic acid of known volume is dropped on the surface of water in a large

trough, it spreads to form a large circular patch. State one assumption made when the size of the
(1 mark)

molecule of the acid is estimated by determining the area of the patch.

.........................................................................................................................................................
.........................................................................................................................................................
.........................................................................................................................................................

.........................................................................................................................................................
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4. Figure 2(a) and 2(b) show capillary tubes inserted in water and mercury respectively.

Capillary tubes

| DG T B Bl BRI B ¢

Water —

Figure 2(a) Figure 2(b)

It is observed that in water the meniscus in the capillary tube is higher than the meniscus in the
beaker, while in mercury the meniscus in the capillary tube is lower than the meniscus in the
beaker. Explain these observations. (3 marks)

.........................................................................................................................................................
.........................................................................................................................................................
.........................................................................................................................................................
.........................................................................................................................................................
.........................................................................................................................................................
.........................................................................................................................................................

.........................................................................................................................................................

5 Figure 3 shows a hot water bath with metal rods inserted through one of its ends. Some candle
wax is fixed at the end of each rod. Use this information to answer questions 5(a) and 5(b).

metal rod

hot water

wax

Figure 3
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